
REMOVE SHARP CORNERS. INCASE OF DOUBT ASK.

ALL DIMN. ARE IN MM UNLESS OTHERWISE STATED. FOR OPEN TOLERANCE

AND SURFACE ROUGHNESS SEE STANDARD CHART DD-01/CH-01.

J-138, MIDC, BHOSARI, PUNE-411 026

VR COATINGS PVT.LTD.

RAW MATERIAL DESCRIPTION

INDIA

LENGTH

SIZE

MAT.

NOTE:

APPD.

NOT TO SCALE

DRN.

DATE

SCALE

SIGN

PART NO.

PART NAME

TOP & BOTTOM ARE IN CASTING

HYD. 400CC

43 040 000 01

Albert

CKD.

DeshpandeRRRRAJIVAJIVAJIVAJIV

24
28

27

23

29 22

25

14

15

13

26

18

20

19

21

16

17

7

8

12

3

5

9

2

4

11

6

1

10

29 WASHER 19 002 004 19 1

28 CONNECTOR 3/4"X3/4" 14 004 004 19 1

27 ALLEN BOLT M6X20 15 320 008 19 12

26 BOTTOM 43 040 014 02 1

25 SEALING RING- CYLINDER 43 024 019 21 Y 2

24 CONNECTOR 3/8"X3/8' 14 002 002 19 1

23 WASHER 3/8" 19 002 002 19 1

22 HOUSING BODY 43 024 001 02 1

21 BALL GUIDE 69 007 041 22 Y 4

20 BALL 18 69 007 033 22 Y 4

19 VALVE SEAT 69 007 040 19 4

18 SEALING RING 69 007 021 21 Y 4

17 PROFILE SUPPORT 69 007 048 19 4

16 SEALING CAP 69 007 047 21 Y 4

15 CYLINDER 43 040 006 19 1

14 LOWER PACKING SET 43 024 025 00 Y 1

13 PISTON ASSEMBLY 43 040 009 00 1

12 WASHER 43 024 010 17 1

11 ALLEN BOLT M5x25 43 024 028 19 3

10 TOP CAP 43 040 013 02 1

9 SEALING RING FOR TOP 43 024 018 21 Y 1

8 PACKING HOUSING 43 024 007 17 1

7 ALLEN BOLT M6X15 15 315 008 19 2

6 SPRING PACKING 43 024 029 19 4

5 MALE PACKING RING  43 024 016 19 1

4  UPPER PACKING SET 43 024 026 00 Y 1

3 FEMALE PACKING RING 43 024 015 19 1

2 WET CUP ASSEMBLY 43 024 024 00 1

1 MIDDLE PIECE 43 024 045 19 1

SR.NO. PART NAME PART NO. W.&T. QTY.

Packing set for
 piston ( table-b)

SPRING PACKING
POSITION (SR. NO.-5)

UPPER PACKING SET.      (Table-a)

PACKING (PTFE)4A  43 024 017 21 5

Sr.no. Part name Part no. Qty.

PACKING (LEATHER) 43 024 031 244B 3

UPPER PACKING SET.      (Table-a)

PACKING (PTFE)4A  43 024 017 21 5

Sr.no. Part name Part no. Qty.

PACKING (LEATHER) 43 024 031 244B 3

UPPER PACKING SET.      (Table-a)

PACKING (PTFE)4A  43 024 017 21 5

Sr.no. Part name Part no. Qty.

A A

PACKING (LEATHER) 43 024 031 24

4B
4A

3

5

4B 3

FEMALE PACKING

MALE PACKING

C

DETAIL C


